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Part I Listening Comprehension (20 minutes)
Section A

Directions : In this section, you will hear 10 short conversations. At the end of each
conversation, a question will be asked about what was said. Both the conversation
and the question will be spoken only once. After each question there will be a pause.
During the pause, you must read the four choices marked A, B, C and D, and de-
cide which is the best answer. Then mark the corresponding letter on the Answer
Sheet with a single line through the centre.

1. A. Below the house. C. Above the house.
B. Near the house. D. Next to the house.
2. A. Print his research paper. C. Extend his license.
B. Keep his books longer. D. Fill out a form.
3. A. Mow the lawn.
B. Weed the flowers.
C. Pay $50 a month for a gardener.
D. Work in the flower beds.
4. A. He likes any kind of boat.
B. He likes being away from home.
C. He dislikes the woman.
D. He is afraid of the activities on the water.
5.A.8:20. B. 8:.30. C. 8:00. D.8.15.
6. A. He is still being treated in the hospital. )
-B. He has had an operation.
C. He’1l rest at home for another two weeks.
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D. He returned to work last week.
- A. He meant she should make a phone call if anything went wrong.
B. He meant for her just to wait till help came.
C. He was afraid something would go wrong with her car.
D. He promised to give her help himself.
- A. They were both busy doing their own work.
B. They waited for each other at different places.
C. They went to the street corner at different times.
D. The man went to the concert but the woman didn’ t.
- A. Bill applied for the job. C. Bill wanted the job.
B. Bill was preferred to others. D. Bill was so unlucky.
- A. Near an art museum. C. At a science exhibit.
B. At a news conference. D. Near a paint store.
Section B

Directions : In this section, you will hear 3 short passages. At the end of each pas-
sage, you will hear some questions. Both the passage and the questions will be spo-
ken only once. Afier you hear a question, you must choose the best answer from the
Jfour choices marked A, B, C and D. Then mark the corresponding letter on the An-
swer Sheet with a single line through the centre.

Passage One

Questions 11 to 14 are based on the passage you have just heard

11. A. New methods of fishing. C. New means of water travel.
B. New political ways. D. How to trap animals.

12. A. They grew only in certain sections of the country.
B. They were plentiful in England.
C. They were preferred raw.
D. They did not exist in England.
13. A. By building canoes.
B. By trapping animals.
C. By making snowshoes.
D. By blazing trails through the forest.
14. A. Spaniards. C. Other Englishmen.
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B. Indians. D. Political leaders.

Passage Two
Questions 15 to 17 are based on the passage you have just heard

15. A. The invention of spectacles.

The inventor of spectacles.
The usefulness of spectacles. \\“‘:‘;«f\‘
. The necessity of spectacles. g
. Legends. C. Craftsman.

Records. D. New eyes.

“\»WV\\\

16.
17. A. People who were rich.

People who were short-sighted.
. People who were far-sighted.

DowE®EEIOW

. People who had eye diseases.

Passage Three
Questions 18 to 20 are based on the passage you have just heard
18. A. In day-care centres where little children were taken care of.
B. In areas in Chicago where poor people lived.
C. In places where hot lunch was provided for factory workers.
D. In schools where free classes were organised for young people.
19. A. For young people and adults. C. For factory workers.
B. For immigrants. D. For poor city children.
20. A. Jane Addams’ contributions to society.
B. Jane Addams’ struggle for women’ s liberation.
C. Jane Addams’ life story.
D. Jane Addams’ responsibility for the poor.

Part I Reading Comprehension (35 minutes)
Directions: There are 4 passages in this part. Each passage is followed by some
questions or unfinished statements. For each of them there are four choices marked
A, B, C and D. You should decide on the best choice and mark the corresponding
letter on the Answer Sheet with a single line through the cenire.
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Passage One
Questions 21 to 25 are based on the Jollowing passage

To say that the child learns by imitation and that the way to teach is to set a
good example oversimplifies. No child imitates every action he sees. Sometimes,
the example the parent wants him to follow is ignored while he takes over contrary
patterns from some other example. Therefore we must turn to a more subtle theory
than*Monkey see, monkey do. ”

Look at it from the child’ s point of view. Here he is in a new situation, lac-
king a ready response. He is seeking a response which will gain certain ends. If
he lacks a ready response for the situation, and cannot reason out what to do, he
observes a model who seems able to get the right result. The child looks for an au-
thority or expert who can show what to do.

There is a second element at work in this situation. The child may be able to
attain his immediate goal only to find that his method brings criticism from people
who observe him. When shouting across the house achieves his immediate end of
delivering a message, he is told emphatically that such a racket (MY &) is un-
pleasant, that he should walk into the next room and say his say quietly. Thus,
the desire to solve any objective situation is overlaid with the desire to solve it
properly. One of the early things the child learns is that he gets more affection and
approval when his parents like his response. Then other adults reward some ac-
tions and criticize others. If one is to maintain the support of others and his own
self-respect, he must adopt responses his social group approves.

In finding trial responses, the learner does not choose models at random. He
imitates the person who seems a good person to be like, rather than a person
whose social status he wishes to avoid. If the pupil wants to be a good violinist, he
will observe and try to copy the techniques of capable players; while some other
person may most influence his approach to books.

Admiration of one quality often leads us to admire a person as a whole, and
he becomes an identifying figure. We use some person as models over a wide
range of situations, imitating much that they do. We learn that they are dependa-
ble and rewarding models because imitating them leads to success.

21. The statement that children learn by imitation is incomplete because

A. they only imitate authorities and experts
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B. they are not willing to copy their parents

C. the process of identification has been ignored

D. the nature of their imitation as a form of behaviour has been neglected
22. For a child the first element in his learning by imitation is .

A. the need to find an authority

B. the need to find a way to achieve the desired result

C. the need for more affection from his parents

D. the desire to meet the standards of his social group
23. Apart from achieving his desired results, a child should also learn to

behave properly

A.
B. attain his goal as soon as possible
C. show his affection for his parents
D. talk quietly
24. Children tend to imitate their models
A. who do not criticize them
B. who bring them unexpected rewards
C. whom they want to be like
D. whose social status is high
25. “An identifying figure” (Line 2, Para. 5) refers to a person
A. who serves as a model for others
B. who is always successful
C. who can be depended upon
D.

who has been rewarded for his success

Passage Two
Questions 26 to 30 are based on the Jollowing passage

The word conservation has a thrifty (54&) meaning. To conserve is to save
and protect, to leave what we ourselves enjoy in such good condition that others
may also share the enjoyment. Our forefathers had no idea that human population
would increase faster than the supplies of raw materials; most of them, even until
very recently, had the foolish idea that the treasures were“ limitless” and “ inex-
haustible”. Most of the citizens of earlier generations knew little or nothing about

the complicated and delicate system that runs all through nature, and which means
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that, as in a living body, an unhealthy condition of one part will sooner or later be
harmful to all the others.

Fifty years ago nature study was not part of the school work ; scientific forestry
was a new idea; timber was still cheap because it could be brought in any quantity
from distant woodlands; soil destruction and river floods were not national
problems; nobody had yet studied long-term climatic cycles in relation to proper
land use; even the word“conservation” had nothing of the meaning that it has for
us today.

For the sake of ourselves and those who will come after us, we must now set
about repairing the mistakes of our forefathers. Conservation should, therefore, be
made a part of everyone’ s daily life. To know about the water table (7K{i) in the
ground is just as important to us as a knowledge of the basic arithmetic formulas.
We need to know why all watersheds (_EJ#¥f Sk ZxA 7 587K X ) need the pro-
tection of plant life and why the running current of streams and rivers must be
made to yield their full benefit to the soil before they finally escape to the sea. We
need to be taught the duty of planting trees as well as of cutting them. We need to
know the importance of big, mature trees, because living space for most of man’ s
fellow creatures on this planet is figured not only in square measure of surface but
also in cubic volume above the earth. In brief, it should be our goal to restore as
much of the original beauty of nature as we can.

26. The author’ s attitude towards the current situation in the exploitation of natural
resources is ‘
A. positive B. neutral C. suspicious D. ecritical

27. According to the author, the greatest mistake of our forefathers was that

. they had no idea about scientific forestry

. they had little or no sense of environmental protection

O W >

. they were not aware of the significance of nature study
D. they had no idea of how to make good use of raw materials
28. It can be inferred from the passage that earlier generations didn’t
realize
A. the interdependence of water, soil, and living things
B. the importance of the proper land use
C. the harmfulness of soil destruction and river floods
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D. the extraordinary rapid growth of population

29. With a view to correcting the mistakes of our forefathers, the author suggests
that
A. we plant more trees
B. we be taught environmental science, as well as the science of plants
C. environmental education be directed toward everyone
D. we return to nature
30. What does the author imply be saying“living space. . . is figured. . . also in cu-
bic volume above the earth” (Lines 11 — 13, Para.3)?
A. Our living space on the earth is getting smaller and smaller.
B. Our living space should be measured in cubic volume.
C. We need to take some measures to protect space.
D. We must create better living conditions for both birds and animals.

Passage Three
Questions 31 to 35 are based on the following passage

Corporations are starting to reach the conclusion that desk-bound jobs consti-
tute occupational hazards. So they are spending large sums of money on facilities
to keep their employees physically and mentally healthy and productive. In ten
years’ time such programs will be so commonplace that people will not accept a
job in companies without one.

Informed sources argue that this trend is not just a temporary one, and busi-
ness health expert James Shepherd, of the Business Health Advisory Commission,
emphasizes that fitness programs are the wave of the future and in ten years there
will be very few large companies that won’ t have become involved. Some major
corporations have already set up various fitness operations, costing millions of
dollars to build and to keep up, as a means of both recruiting employees and im-
proving their image.

However, this drive for business fitness involves much more than mere re-
cruitment. Industry in this country suffers annual losses estimated at $ 25 billion a
year as a result of employees’ dying before their time, and loses billions more
through diminished productivity because of ill health and disability. Indeed, it has
been officially estimated that backaches alone cost industry no less than one billion
dollars annually in production and the like, and $225 million more in employ-
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